o(d dxy) (cm)

=
<

] : 2 S :
3 . i :
il i 1 . i

-1 0 1 2 3

o(d dz) (cm)

1071

—=— DQM_V0001_R000000001__Global_cmssw_RECO mline)
—e— DQM_V0001_R000000001__Global_mkFitOriginal__RECO

—— DQM_V0001_R000000001__Global_mkFitNew _RECO
—— DQM V0001 R000000001_Global__mkFitNew05 RECO

o(d o) (rad)

L1 1111 11 1 Liil il 11111
H 3 P
& X 5
H E 3 : 5
1 e | & 4 N
H o
e B e
1 a q . L3
1 - s
Pt e P [ | &
; : : CdPANE
i i i

0 1 2 3
TP ® (PCA to beamline)

o p_/p.)

] 1) 1] 1 11111 111 1
ccooo|lococl|lE B LI =
S IR O B
: E
! *
- : o
ES
|
¥

Ti : i i

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


